oboob: gouoouoobooa

ogooog

goooo

2011060 60
20110 80 220 OO
20120 600 240 OO
20140 50 190 OO

oooo 000000: 00000000000



Q@ Uoooono

@ OU000O0O0ODoOooo
@ CreamOJ 00O

e JavalOOODDODODOODODODOOODODODOOODO
e OpenOfficeorg Calc OO OOODODOOOODO

@ Sugar0 OO

e SATOOODODOOO
e Scala0JOOOOODODODODO

oooo 000000: 00000000000



cspP 00 0O ODOoOoooo oo

goooon

oooo 000000: 00000000000



cspP

0ooooo (CSP)

000000 (CSP; Constraint Satisfaction Problem) 0 0 0O 0O O
dooooooobobbbbbtbuodooooooooo

gooooo

0000000O0oooooOoOo (X,b,c)0oooooooo
e X: OO (variable) DO O OO

o D: 000 xeXOOOODOOOODOOOODOOODO
(domain) 0000000 (O: D(x) ={1,2,3)0000
D(x)DO0O0O0OO0O0O0OOoO0ooooooo

e C: XOOODO (constraint) 00O OO

e XODOD vODODO x0000 v(x) € D(x) 0000
O00vODOODO (assignment) 0000

e 000000 VvOOCOOUODDDODD (satisfy)yDOOODO
O CSPOODDOO (satisfiable) D0 OO0 0vOOOOOODO
0000000000000 (unsatisfiable) D000 OO

oooo 000000: 00000000000



cspP

gooooogn

400000000

X = {q0,91,92,q3} 123 4
D(qi) = {1727374} (i:0717273) 70 2 Q
. ) Y . a1
c = larali<n g
U {qi+i#q+jli<j} 9 Q
U {gi—i#q—Jjli<j}

ev={q=2 qg=4 q=1 g=3}000 CSPODOO
e qUIIDIDDODODOOOUOOODOO
e q+i/00000O0DO0OODOOODOOO
e q—i000000OD0O0OODOOOOOO

e J0UIOnDbOIODODOODOODLDOO

oooo 000000: 00000000000



cspP 00 0 OOooooo o0

oooon

gobodoboooboobooooboobooobobd
(Constraint solver) D 000 CSPO OO DO (CSP solver) D OO0
gbobobobobobobooboboobooboobooboo 200D
goog

uboboobooboobbooobooboboobooo

e [
O0(CO0O0D0O00000d, constraint programming)
o
o

O
O
OO00000O000: SICStus Prolog, B-Prolog

C++: IBM ILOG CP (O O)
Java: Choco, Cream

e II0IOODODODODOODDOOOOOOOOM
o Gecode, Sugar

e JUDODODODODODUODODLODODLOUDODLOD
0000 (COP; Constaint Optimization Problem) 00 00O O
gboooooo

oooo 000000: 00000000000



cspP

CSPODOO CcOPODOO

goooooooon
e JOUODODOUDOO (IBMILOG CP)

gooooo
gooog
goooooo
googond

e OO ODODOOO

ooo
e CSP Lib
@ OR Library
@ XCSP benchmarks

oooo 000000: 00000000000


http://www.csplib.org
http://people.brunel.ac.uk/~mastjjb/jeb/info.html
http://www.cril.univ-artois.fr/~lecoutre/benchmarks.html

oooooooooo

ooooobogd

oooo 000000: 00000000000



oooooooooo GT BT 0O0OOO FC MAC

00000 (Generate and Test)

for (go € D(qo))
for (g1 € D(q1))
for (g2 € D(g2))
for (g3 € D(q3))
if (qo,q1,90,: 000000000)
Go,91,92,q3 0 0

e OUODOOODODOOODLOOODLDDODO

1 2 3 4
o qg=1qg=1qg=14¢g=10 o [Q
oo0oooOoood a [Q
@ |Q
g |Q

oooo 000000: 00000000000



oooooooooo GT BT 0O0OOO FC MAC

00000 (Generate and Test)

for (go € D(qo))
for (g1 € D(q1))
for (g2 € D(g2))
for (g3 € D(q3))
if (qo,q1,90,: 000000000)
Go,91,92,q3 0 0

e OUODOOODODOOODLOOODLDDODO

1 2 3 4
goooogogoo a [Q
o qg=1gq1=1,q=1g3=20 g |Q
goooogooo g3 Q

oooo 000000: 00000000000



oooooooooo GT BT 0O0OOO FC MAC

00000000 (Backtracking)

for (qo € D(qo))
for (q1 € D(q1))
if (10 qUOOO0O000OD0O0) continue
for (q2 € D(q2))
if (g0 g, 00000O0OO0O0O) continue
for (g3 € D(q3))
if (30 G0,q1,q0000000000) continue

qo,q1,92,q93 00

1 2 3 4
e gqo=1000¢ =1000 g1 =2 0o [Q
oooboooboo q [x|x
aqz
g3

oooo 000000: 00000000000



oooooooooo GT BT 0O0OOO FC MAC

00000000 (Backtracking)

for (qo € D(qo))
for (q1 € D(q1))
if (10 qUOOO0O000OD0O0) continue
for (q2 € D(q2))
if (g0 g, 00000O0OO0O0O) continue
for (g3 € D(q3))
if (30 G0,q1,q0000000000) continue

qo,q1,92,q93 00

1 2 3 4
e gqo=1000¢ =1000 g1 =2 0o [Q
oooooooooo q [x Q
e gqo=1 ¢=3000qg 0000 go | X|X|x]|X
oooooooooo g3

oooo 000000: 00000000000



oooooooooo GT BT 0OOOO FC MAC

0000 (Constraint Propagation)

e JO0UI0OOODDODDOODODOOOODOOODOODODOOOO
e OO OOODLOLODLDLODLOOOOUOU
e J0UOODOUDOOO (FC; Forward Checking)
e J0DDOOUDOOO (MAC; Maintaining Arc Consistency)
e J000DUUDUODDLDOUULODLUDOULOOOUD (Arc
Consistency Algorithm) 00 00000000 (conflict) OO
Ooooooooooood

oooo 000000: 00000000000



gooooooooao GT BT 0OOOO FC MAC

000000 (Arc Consistency)

gooobgo

OO0 x,yODOOO C(x,y) DOODOOODODOOOOOODO (arc
consistent) 1 000000

e xUOUDODOODDOODOODOOOD yODOOODODOODO

e D(x)=D(y)={1,2,3} 00000 x<y0O00000O0O
ggd
o x=10000y=230x<y00ooog
o x=20000y=30x<yOOoooono
e x=30000x<yOOooOo yoooooono

oooo 000000: 00000000000



gooooooooao GT BT 0OOOO FC MAC

000000 (Arc Consistency)

gooobgo

OO0 x,yODOOO C(x,y) DOODOOODODOOOOOODO (arc
consistent) 1 000000

e xUOUDODOODDOODOODOOOD yODOOODODOODO

e D(x)=D(y)={1,2,3}00000 x<yOOODOOOO
000

o x=10000y=230x<y00ooog
o x=20000y=30x<yOOoooono
e x=30000x<yOOooOo yoooooono

e D(x)UDO 30000000 UDOUDDLOOUDO

oooo 000000: 00000000000



gooooooooao GT BT 0OOOO FC MAC

000000 (Arc Consistency)

gooobgo

OO0 x,yODOOO C(x,y) DOODOOODODOOOOOODO (arc
consistent) 1 000000

e xUOUDODOODDOODOODOOOD yODOOODODOODO

e D(x)=D(y)={1,2,3} 00000 x<y0O00000O0O
ggd

o x=10000y=230x<y00ooog

o x=20000y=30x<yOOoooono

e x=30000x<yOOooOo yoooooono

(x)ODO30000000000000000

goooooooooooooooooooooyD
ooooognog

O000O0x<yOOOOxOO0OOOOOO
e D(y)UD 10000DODOOOOODODOODOOOOD

oooo 000000: 00000000000

O
g
=1



oooooooooo GT BT 0O0OOO FC MAC

00000000000 (Forward Checking)

for (qo € D(qo))
q()D ql,QQ,q3DDDDDDDDD
if (00000000000 000) backtrack; continue
for (q1 € D(q1))
g0 g, 000000000
if (000000 0000000) backtrack; continue
for (g € D(q2))
U0 gOOdoooooog
if (00000D000000000) backtrack; continue
for (g3 € D(q3))
Gosq1,92,93 0 0

e backtrack UD OO UODUOOUOODODOUODOOODODUODO
gobooboooboboooood

oooo 000000: 00000000000



oooooooooo GT BT 0O0OOO FC MAC

00000000000 (Forward Checking)

e q=10000

1 2 3 4
g |Q
q1
a2
a3

oooo 000000: 00000000000



oooooooooo GT BT 0O0OOO FC MAC

00000000000 (Forward Checking)

e gqo=10000
e g0l g1, p, 3000000 OOOO

1 2 3 4
g |Q
g1 | X|X
q | X X
g3 | X X

oooo 000000: 00000000000



oooooooooo GT BT 0O0OOO FC MAC

00000000000 (Forward Checking)

e gqo=10000
e g0l g1, p, 3000000 OOOO
e g =30000

1 2 3 4
g |Q
g | x|x|Q
q | X X
q3 X X

oooo 000000: 00000000000



oooooooooo GT BT 0O0OOO FC MAC

0000000000 (Forward Checking)

e gqo=10000

e g0l g1, p, 3000000 OOOO

e g =30000

o O , gopoooggoog

" o & 1 2 3 4

g |Q
g | x Q
g | x X | x
as X X | X

oooo 000000: 00000000000



oooooooooo GT BT 0O0OOO FC MAC

0000000000 (Forward Checking)

e q=10000

e g0l g1, p, 3000000 OOOO
e g =30000
o0 q qs0000000000 L0034
e JIIOOOODDOg =40000
g |Q
g1 | x|x Q
q | X X
as X X

oooo 000000: 00000000000



oooooooooo GT BT 0O0OOO FC MAC

0000000000 (Forward Checking)

e q=10000

e gl qi,q, 30000000000

e g =30000

e qil q,qggUUIU0O0O0OOOO0O L1234

e JIIOOOODDOg =40000 o [Q

o0 q 0000000000 o [x[x| |Q
g | x X | x
q3 X | X X

oooo 000000: 00000000000



oooooooooo GT BT 0O0OOO FC MAC

0000000000 (Forward Checking)

e gqo=10000

e gl qi,q, 30000000000
e g =30000

e qil q,qggUUIU0O0O0OOOO0O

123 4

e J0DDODOOODOq =40000 @ [Q

e q10 g, g0000D0D0O0O0ODO a [x[x| |Q

e »=2000q¢0q¢O0000000 @ |x|Q X
ooad g3 | X|x|x|Xx

oooo 000000: 00000000000



oooooooooo GT BT 0O0OOO FC MAC

0000000000 (Forward Checking)

e gqo=10000

e gl qi,q, 30000000000
e g =30000

e qil q,qggUUIU0O0O0OOOO0O

1 2 3 4
e J0OOOIDOODOg =40000 o Q
e g1l g ggUIOODOOODOOO g1 | x| x|[x
e x=2000¢0qg00OOO0OONO qo X X
ooad g3 X

o lUDUDLODUODg=20000

oooo 000000: 00000000000



oooooooooo GT BT 0O0OOO FC MAC

0000000000 (Forward Checking)

go=10000

g0 q,q agll00000000
gu=30000

qgqU g, 0000000000
0o0o0oddooobobOg=40000 %
0 g 0000000000 o [

p=2000q¢0 0000000 %@
0oQ g3

000000000q=20000
e q=4000¢q, 0000000000

X | X | X [N

X
X | X [

oooo 000000: 00000000000



oooooooooo GT BT 0O0OOO FC MAC

0000000000 (Forward Checking)

e gqo=10000

e gl qi,q, 30000000000
e g =30000

e qil q,qggUUIU0O0O0OOOO0O

1 2 3 4

e JIIOOOODDOg =40000 % Q
o0 ¢», 0000000000 a [x[x[xQ
e g =2000¢0 0000000 g |Q|x|x|x
ooad g3 | XxX|Xx X

e 00000000Og=20000
e 1=4000¢q, 0000000000
e =1000¢0000000000

oooo 000000: 00000000000



oooooooooo GT BT 0O0OOO FC MAC

0000000000 (Forward Checking)

e gqo=10000

e gl qi,q, 30000000000
e g =30000

e qil q,qggUUIU0O0O0OOOO0O

1 2 3 4

e JIIOOOODDOg =40000 % Q
o0 ¢», 0000000000 a [x[x[xQ
e g =2000¢0 0000000 g |Q|x|x|x
ooo g3 | x|x|Q[x

e JIDUIDOODUODOg=20000

e q1=4000q¢, 0000000000
e =1000q@U00000000O0OO

e g3=30000

oooo 000000: 00000000000



gooooooooao GT BT 0OOOO FC MAC

odoobbogodad

X
1
2 <
3

x<y y<z

W N R
W N H[N

e J0UOODDOOODOODDOODLOODO

e JOUOODDOOODOUODLDDLDUOODLOODLDODODDOODLO
gobooboooboobboobooboobooboooon

oooo 000000: 00000000000



gooooooooao GT BT 0OOOO FC MAC

odoobbogodad

X y z
1 x<y y<z 1
2 — 2 —> 2

3 3

e JIUIUOUOOOUDDDODODOOOUOUULO
o x<yuonoooooono

e JOUOODDOOODOUODLDDLDUOODLOODLDODODDOODLO
gobooboooboobboobooboobooboooon

oooo 000000: 00000000000



gooooooooao GT BT 0OOOO FC MAC

odoobbogodad

X
1

x<y y<z

e J0UOODDOOODOODDOODLOODO

o x<yuonoooooono
o y<zUUDOUOUOOOOOO

e JOUOODDOOODOUODLDDLDUOODLOODLDODODDOODLO
gobooboooboobboobooboobooboooon

oooo 000000: 00000000000



gooooooooao GT BT 0OOOO FC MAC

odoobbogodad

X
1

x<y y<z

e J0UOODDOOODOODDOODLOODO

o x<yuonoooooono
o y<zUUDOUOUOOOOOO

e JOUOODDOOODOUODLDDLDUOODLOODLDODODDOODLO
gobooboooboobboobooboobooboooon

o x<yOuonhooboobhoDOOoDLOO

oooo 000000: 00000000000



CSP 0O0OO0ODOOO0OOOOO Cream Sugar Copris 00O GT BT 0OOOO FC MAC

AC30O0ODODO

function AC3(x) {
Q=x00000000
while (QOOOOO) {
QUOOO0OO0O cOOOOO
cOO0O0d0O0OOoOoooooooao
if (D0O0OO0OOOooOoOog yDDDDDDDDD){
if (yUDOOoooono)
return false
QUyOOOOoOOoOooono
}
}
return true

}

e U0 AC4, ACTOODOOOOOOLOOOOODODOOOOO



oooooooooo GT BT 0OOOO FC MAC

000000000 (MAC; Maintaining Arc

Consistency)

for (qo € D(qo))
if (not AC3(qg)) backtrack; continue
for (g1 € D(q1))
if (not AC3(g;)) backtrack; continue
for (g2 € D(q2))
if (not AC3(g,)) backtrack; continue
for (g3 € D(g3))
do,91,G92,q3 od

e backtrack U DD UOODOOODOOUOOODOOODOOD
gobooboooboboooood

oooo 000000: 00000000000



oooooooooo GT BT 0OOOO FC MAC

000000000 (MAC; Maintaining Arc

Consistency)

0o qgo=10000

1 2 3 4
g |Q
q1
g2
g3

oooo 000000: 00000000000



oooooooooo GT BT 0OOOO FC MAC

000000000 (MAC; Maintaining Arc

Consistency)

o gu=10000
o o0 qi, , 0000000000

1 2 3 4
g |Q
q | X|X
g> | X X
q3 X X

oooo 000000: 00000000000



oooooooooo GT BT 0OOOO FC MAC

000000000 (MAC; Maintaining Arc

Consistency)

o gu=10000
o o0 qi, , 0000000000
e q0 0000000000

1 2 3 4
9% |Q
g1 | x|Xx|x
g> | x X | x
q3 X X

oooo 000000: 00000000000



oooooooooo GT BT 0OOOO FC MAC

000000000 (MAC; Maintaining Arc

Consistency)

o gu=10000
o o0 qi, , 0000000000
e q0 0000000000

o0 0000000000 123 4
q |Q
g1 | x|x|x
g | x X | x
g3 | x|x X

oooo 000000: 00000000000



oooooooooo GT BT 0OOOO FC MAC

000000000 (MAC; Maintaining Arc

Consistency)

°e qu=10000

e ol g1, g,z 000000000ODO

e 10 u0000DDOOOODO

e 1000000 DOOODO 12 3 4

e 0 z00000000O0ODO 9% |Q
q1 X | X|X
qQr | X|X|X]|X
q3 X | X|X|X

oooo 000000: 00000000000



oooooooooo GT BT 0OOOO FC MAC

000000000 (MAC; Maintaining Arc

Consistency)

°e qu=10000
e ol g1, g,z 000000000ODO
e 10 u0000DDOOOODO
e 1000000 DOOODO 12 3 4
e 0 z00000000O0ODO qo Q
e 100DD0O0O0OOqg =20000 a1

g2

a3

oooo 000000: 00000000000



oooooooooo GT BT 0OOOO FC MAC

000000000 (MAC; Maintaining Arc

Consistency)

e qu=10000
e ol qi, g, 30000000000

e 10 g OOOOODODODODO

e 0 30000000000 12 3 4
e 0 z00000000O0ODO qo Q

e 00D0DO0OOOg=20000 qr | XXX
0 g0 g g 0000000000 Zi : X

oooo 000000: 00000000000



oooooooooo GT BT 0OOOO FC MAC

000000000 (MAC; Maintaining Arc

Consistency)

e qu=10000

e ol g1, », 30000000000

e 10 00D000DOODODOO

e 10 0000000000 12 3 4

e 0 z00000000O0ODO qo Q

e 00D0DO0OOOg=20000 qr | XXX
q2 X | X | X

e gl g1, qp, 30000000000 o ”

o

q0q0000000000

oooo 000000: 00000000000



oooooooooo GT BT 0OOOO FC MAC

000000000 (MAC; Maintaining Arc

Consistency)

q0q0000000000
q0q0000000000

e qu=10000

e ol g1, », 30000000000

e 10 00D000DOODODOO

e 10 0000000000 12 3 4

e 0 z00000000O0ODO qo Q

e 00D0DO0OOOg=20000 qr | XXX
q2 X | X | X

e gl g1, qp, 30000000000 o ” -

o

o

oooo 000000: 00000000000



oooooooooo GT BT 0OOOO FC MAC

000000000 (MAC; Maintaining Arc

Consistency)

@0 O000000000
0 qO0000000000
0 qO0000000000

e qu=10000

e ol g1, », 30000000000

e 10 00D000DOODODOO

e 10 0000000000 12 3 4

e 0 z00000000O0ODO qo Q

e 00D0DO0OOOg=20000 qr | XXX
q2 X | X | X

e gl g1, qp, 30000000000 s xIx -

o

o

o

oooo 000000: 00000000000



oooooooooo GT BT 0OOOO FC MAC

000000000 (MAC; Maintaining Arc

Consistency)

@0 qO000000000
@0 0000000000
w0 0000000000
gg=4g=1 ¢g3=30000

° go=10000
e gl g, 0000000000

e 0000000000

e 0 ;0000000000 L2034
o 0 ;0000000000 o [ 1Q

e 000000000 =20000 a1 [x|[x|x|Q
° g0 g1, 0000000000 gi 8iéz
[~ )

)

(")

o

oooo 000000: 00000000000



oooooooooo GT BT 0OOOO FC MAC OO0 OOOO

goad

e UO0OUOOOOODDOOOOOOOOO
o JO00ID0O0UDOOLODOODODLOOLOOOUDOOLOOODO
e DODODODOODODOOO (first-fail principle)d
oboooooooooooooooooooOaeDOOOO
000000 (General Arc Consistency)l
Ooooooooooobooooooooooboboooo
OoooooooooOoboooooooooDoobooOoOon
ooooooooooooooooooooooo
e J0UJO00ODUDDOOODDOOOUO (Bounds Propagation) O
goooo
o JOUIDOUODOLDOODOLOODLOOLOOOLOOODOOOO
gbooobooooboon
e alldifferent D00 0000 OO (global constraints)
OoooooooooOOoooOoOoooooDooon
ooo
o alldifferent 000000200000 0000C0O0O0ODO0OOO
goooo

ooood

good
gooog

oooo 000000: 00000000000



oooooooooo

cspPoOnooonoonOnO

@ Roman Bartdk: On-line Guide to Constraint Programming,
http://kti.ms.mff.cuni.cz/~bartak/constraints/

@ Norvig and Ruseel: Constraint Satisfaction Problems,
http://aima.cs.berkeley.edu/newchap05.pdf

@ Kim Marriott and Peter J. Stuckey: Programming with
Constraints: an Introduction,
http://www.cs.mu.oz.au/"pjs/book/course.html

@ Gert Smolka: Constraint Programming,
http://www.ps.uni-sb.de/courses/cp-ss07/

@ Christian Schulte: Constraint Programming,
http://www.ict.kth.se/courses/ID2204 /

oooo 000000: 00000000000


http://kti.ms.mff.cuni.cz/~bartak/constraints/
http://aima.cs.berkeley.edu/newchap05.pdf
http://www.cs.mu.oz.au/~pjs/book/course.html
http://www.ps.uni-sb.de/courses/cp-ss07/
http://www.ict.kth.se/courses/ID2204/

Java [
duddddddouoooooooon
Cream

oooo 000000: 00000000000



Cream Sugar Copris 0[] 0 Calc/Cream

Cream 0O

Cream [0 00O

e OOOIDDOOODDOODDOOODOOODODOODDOODOO

oo
e 00O Java
o LGPLOIDODO

e http://bach.istc.kobe-u.ac.jp/cream/

e AGBIIOODODODO
@ Simulated Annealing, Taboo Search D OO OO0 OO OO
e IODOIODDOODOOOODO
@ OpenOffice.org CalcO DO OO OODO
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http://bach.istc.kobe-u.ac.jp/cream/

Cream

0oo (1)

gooooo

ooooooovoooOoboooobo200b00000000
goboobooooo

xel yel
x>0 y>0
X+y=7 2x 4+ 4y =20

oooo 000000: 00000000000



Cream 00 000 nOOOO Calc/Cream

ooo (2)

gooooooooon

Network net = new Network();

goood

IntVariable x = new IntVariable(net);
IntVariable y = new IntVariable(net);

gooog

x.ge(0);

y.ge(0);

x.add(y) .equals(7);
x.multiply(2).add(y.multiply(4)) .equals(20);

oooo 0o0o0O00:- 00000000000



noo (3)

goooooodn

Solver solver = new DefaultSolver(net);

googd

Solution solution = solver.findFirst();

gooobogo

int xv = solution.getIntValue(x);
int yv = solution.getIntValue(y);

oooo 0o0o0O00:- 00000000000



Cream Sugar Copris 0[] O 0000 Calc/Cream

import jp.ac.kobe_u.cs.cream.x*;

public class FirstStep {

public static void main(String args([]) {
Network net = new Network();
IntVariable x = new IntVariable(net);
IntVariable y = new IntVariable(net);
x.ge(0);
y.ge(0);
x.add(y) .equals(7);
x.multiply(2) .add(y.multiply(4)).equals(20);
Solver solver = new DefaultSolver(net);
Solution solution = solver.findFirst();
int xv = solution.getIntValue(x);
int yv = solution.getIntValue(y);
System.out.println("x = " + xv + ", y =" + yv);

oooo 000000: 00000000000



Cream

n00000O000 (1)

nO00000000
nxnOOOOOOOpO0000O000O000O0O00O000000

goOooon
X = {QO7CI17---7CIn—1}
D(gi) = {1,2,...,n} (i=0,1,...,n—1)
C = {a#qli<j}

{ai+i#aq+jli<j}
{gi—i#q—Jjli<j}

C C

oooo 000000: 00000000000



Cream nO0O0O0O

n00000000 (2)

goboodabooaobod

Network net = new Network();

CEEEE
int n = 100;
IntVariable[] q = new IntVariablel[n];
for (int 1 = 0; i < n; i++)
q[i] = new IntVariable(net, 1, n);

oooodo1l

new NotEquals(net, q);

oooo 0o0o0O00:- 00000000000



Cream

n00000O000 (3)

oopooo 2
IntVariable[] u = new IntVariable[n];
for (dnt i = 0; i < n; i++)
uli] = qli].add(i);
new NotEquals(net, u);

oooogd 3

IntVariable[] d = new IntVariable[n];
for (int i = 0; i < n; i++)

d[i] = qli].subtract(i);
new NotEquals(net, d);

oooo 000000: 00000000000



Cream 000 npDOO000O0 Calc/Cream

n00000O000 (4)

goooooodn

Solver solver = new DefaultSolver(net);

goog

for (solver.start(); solver.waitNext(); solver.resume()) {
Solution solution = solver.getSolution();
for (int i = 0; i < n; i++)
System.out.print(solution.getIntValue(q[i]l) + " ");
System.out.println() ;

}

solver.stop(Q);

oooo 000000: 00000000000
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n000O00000 (5)

Network net = new Network();

int n = 100;

IntVariable[] q = new IntVariablel[n];

for (int i = 0; i < n; i++)
ql[i] = new IntVariable(nmet, 1, n);

new NotEquals(net, q);

IntVariable[] u = new IntVariablel[n];

for (int i = 0; i < n; i++)
uli] = q[il.add(i);

new NotEquals(net, u);

IntVariable[] d = new IntVariablel[n];

for (int i = 0; i < mn; i++)
d[i] = q[i].subtract(i);

new NotEquals(net, d);

Solver solver = new DefaultSolver(net);

for (solver.start(); solver.waitNext(); solver.resume()) {
Solution solution = solver.getSolution();
for (int i = 0; i < nj; i++)

System.out.print(solution.getIntValue(q[il) + " ");

System.out.println() ;

}

solver.stop() ;

oooo 000000: 00000000000
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Calc/Cream

Calc/Cream

Calc/Cream 000000000 OOOOOO OpenOffice.org O
CilcOOODOOODODODODOOODOOODODOODO

e J0DODODODODODODODLDODOLOODOOODO
ooood

e Cream000IDDOODOOODDDOOOOODODOOODOO
@ OpenOfficeorg JavaO O OO OOOOODOOOOOONO

@ http://bach.istc.kobe-u.ac.jp/cream /calc.html

oooo 000000: 00000000000


http://bach.istc.kobe-u.ac.jp/cream/calc.html

Cream Sugar Copris [ [] [l Calc/Cream

Calc/CreamO 000 (1)

goood

@ CVARIABLES(/Inf; Sup; Range; ;.. .; Range,)
o Inf 0ODODODOO
e Sup: OO DOOO
e Range;: 0O OO0

goood

@ CONSTRAINTS(Range;;...; Range,)
e Range;; 0O DODO0O

oooo 000000: 00000000000



Cream [l Calc/Cream

Calc/Cream O 000 (2)

gobooooodnd

@ + —, % + ABS(Cell)

@ = <> < <= > >=

@ SUM(Range; ;...; Range,)

@ CEQUALS(Range;;...;Range,): 000000

@ CNOTEQUALS(Range;;...;Range,): DO 0O OO0

e OUOODODOOODLOOODDOOLOODDOODLOODn
goo

oooo 000000: 00000000000
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SATOOODODOOO Sugar

oooo 000000: 00000000000



SugarJ O O

SATOOOOO0ODO Sugar
e Sugar U0 0U0ODDODDOCOOOOOOODODDOOOOO SAT
O0000000oOooOOC SATOOOOOOOOoOooOooo
e BSDOOODOOOOO
e http://bach.istc.kobe-u.ac.jp/sugar/

encode
CSP SAT
: SAT Solver
]
Y
decode X
Solution of CSP <& Solution of SAT

e 20080 J0DO 20000000 CSPOODDOOODOOOODODO
goood

oooo 000000: 00000000000


http://bach.istc.kobe-u.ac.jp/sugar/

SAT (Boolean Satisfiability Testing)

gobooobobooobooobobooboooboboobooonood
goooooogond

e SATOODDOUODOOOUDOODOOUOUODDODODOOOODO

e SATOONPOODODODODODODODODODOD
[Cook 1971]0

e J0JOOODODDODODOOSATOOOOOOOODO
(MiniSat O )0

e I0DDDDDODDOODDOSATODOODOOOODOO
gooooooo

oooo 000000: 00000000000



CNF

e JJ0ODUDODDDOODDO (CNF; Conjunctive Normal
Form)OOOOOOO
e CNFOUOOODOUDOODO (AND)OOUOD
o 0 (clause) 000000000 OOO (OR)OODOO
e JOUDO (itera) DD OO0ODUDOOOODOODOOOODO

e J0IUIUIODODDDODOOUOODIMACS CNFOOOODODODO

pcnf97
120
930
1840
-2-450
-460
2670
-5-70

Number of variables and clauses

caVvb

rcVd

ravVeVf

bV —fVg

L =f VA

c=bV —-hVi

;g Vi

oooo 000000: 00000000000



SATODOOO

e SATOO DD (SAT solver) D000 O0D0O CNFOOOOO
0000000 (SAT)00000 (UNSAT) 00000000

gogoooon

e JODSATOODOSATOOOOODODOOOOOOOOODO
ggd

e 00O (systematic)SATO OO OO OSATO UNSATO OO
ggdod

o JOOODPLLOOOOODOOOODODO

e 00O (stochastic)SATO OO OOOSATOOOOOO
(UNSATO O 00 0)0

o JOUODOODOOLODOODODLOODOO

oooo 000000: 00000000000
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DPLLOOOOOO

[Davis & Putnam 1960], [Davis, Logemann & Loveland 1962]

(1) function DPLL(S: a CNF formula, o: a variable assignment)

(2) begin

3) while 0 ¢ So and 3{/} € So do /* unit propagation */

4) if | is positive then o := c U {/ — 1};

(5) else o :=coU{l—0};

(6) if S is satisfied by o then return true;

(7) if ) € So then return false;

(8) choose an unassigned variable x from So;

(9) return DPLL(S, o U {x — 0}) or DPLL(S, o U {x — 1});
(10) end

e Sc00SOsO0DOOIOOIODODDOO
e )00DUD(UDDOL)TUDODO

oooo 000000: 00000000000



Q@ :0000D0a—0000

Ci:aVvhb
G:cvd
Cs:aVvVeVf
C:—-bv-fVvg
CG:~fVh
Co:— bV —-hVi
G :—g Vi

oooo 000000: 00000000000



@ 200000a—0000O
e GUOOb—100D0O

G b
G:cvd
G eV f
C:—-bv-fVvg
G :—fVh
Co:—-bV—-hVi
G :—g Vi

oooo 000000: 00000000000



@ 200000a—0000O
e GUOOb—100D0O

G @ cO000OO0O0Oc—00O0DO
G:cvd
G eV f
Gy -fVvg
CGs:—~fVh
G : —=h Vv i
G :—g Vi

oooo 000000: 00000000000



@ 200000a—0000O
e GUOOb—100D0O

G @ cO000OO0O0Oc—00O0DO
G:c . d e GOOd—1000
G eV f
Gy -fVvg
CGs:—~fVh
G : —=h Vv i
G :—g Vi

oooo 000000: 00000000000



@ 200000a—0000O
e GUOOb—100D0O

G @ cO0d0000c—000O

G e GUOOd—100D0
G eV f @ c00000e—0000
Gy -fVvg

CGs:—~fVh
G : —=h Vv i

G :—g Vi

oooo 000000: 00000000000



@ 200000a—0000O
e GUOOb—100D0O

G : @ c00000c—0000O
G : s GOOd—1000
G f @ c00000e—0000
G : -fVvg e GODO f—1000
G :—~fVh
G : —=h Vv i
G :—g Vi

oooo 000000: 00000000000



@ 200000a—0000O
e GUOOb—100D0O

G : @ c00000c—0000O
G : s GOOd—1000
G @ c00000e—0000
Gy : g e GODO f—1000
Gs: h e 00 g—1000
G : —=h Vv i
G :—g Vi

oooo 000000: 00000000000



@ 200000a—0000O
e GUOOb—100D0O

G @ cO0000O0c—0000
G : s GOOd—1000
G @ c00000e—0000
Gy : e GODO f—1000
Gs: h e 00 g—1000
Co : “h Vi e GGOOi—000D
C7Z =i

oooo 000000: 00000000000



@ 200000a—0000O
e GUOOb—100D0O

G : @ c00000c—0000O
G s GOOd—1000

G @ c00000e—0000
Gy : e GODO f—1000
Gs: h e 00 g—1000
Co : —h o ;OO i—0000
G - o GGOO h—1000

oooo 000000: 00000000000



G
G

(O

C5S

Gs :
C7Z

—h

Q@ :0000D0a—0000
e GUOOb—100D0O
@ cO0000D0c—o00O0ODO

oooo

e GUOd—10O00O
@ cU0000Oe—~0000

GOO f—1000
G O00gw—1000
GOO0i—0000
GO0 h— 1000
CGOOoOoooo

ooooog:

Oooooooooon



G
G
G eV f
Gy -fVvg
G :—fVh
G : —=h Vv i
G :—g Vi

Q@ :0000D0a—0000
e GUOOb—100D0O
@ cO0000D0c—o00O0ODO

e GUOOd—1000
@ c00000e—0000O
GOO f—1000
G O00gw—1000
GOO0i—0000
GO0 h— 1000
CGOOoOoooo

Q@ 0000000 bDe—~1000

oooo 000000: 00000000000
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OO0 SATOODOO

e JOOSATOUDODOODOODODDOOO DPLLODOODOO
gobooboobboooboon

e UOODODOODO (CDCL; Conflict Driven Clause Learning)

[Silva 1996]

O000O00000o0O0o [Silva 1996]

0000000000 [Gomes 1998]

000000 [Moskewicz & Zhang 2001]

0000000000000 [Moskewicz & Zhang 2001]

e Chaff0 zChaff DU 1000 200000000000
[2001]0

o SATOOODODODO SATOODO 20020000000 0SAT
ocoooooooooooboobooooooo

e MiniSatD OO DOOOC++0 10000000000DO 0O 2005
OO0 SATOOOOO0OO0ODODOOODOOOO

e J0DSATOOODDODODI®DDODODODINODODOOO
ooooooooon

oooo 000000: 00000000000



Sugar

00000000 (CDCL)

e JOUOODDOOODOODDOOODOODDODDOODLO
gobodgbood

gboboboboboboboboboobooboobo

000000000000 (resolution) 00000000
oon

000000000 First UIP (Unique Implication Point) O
O0000000000000 [Moskewicz & Zhang 2001]0

oooooO0o-bv-fOOOOOOOOOODOOO ]

oooo 000000: 00000000000



Sugar

SATOOOODOODOOO

SATOODO0ODODOO0OO0OO0DOO00OO0OSATOOOODOO
doooooobobbbbbotbdooooooooobooooo
gobobooboo

000000 (SATPLAN, Blackbox) [Kautz & Selman 1992]
00000000000 [Larrabee 1992]
00000000000 000O00O0 [Crawford & Baker 1994]
00000000 (Alloy) [1998]

0000000 [Biere 1999]
00000000000000000 (SATURN)
o SAT4JODEclipse 34000000000

0000 (Aprove, Jambox)

Answer Set Programming (clasp, Cmodels-2)
O00o0O0oooooo (iProver, Darwin)
00000000000 (Paradox)
000000 (Sugar) [Tamura et al. 2006]

oooo 000000: 00000000000
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SugarD OO OOO0OOOO

(int q0 1 4)

(int q1 1 4)

(int g2 1 4)

(int q3 1 4)

(alldifferent q0 ql1 g2 g3)

(alldifferent (+ q0 1) (+ q1 2) (+ g2 3) (+ g3 4))
(alldifferent (- q0 1) (- q1 2) (- g2 3) (- g3 4))

o SugarOODOLisp0O0DOO0ODOOOODOODOOOODOOO
ooo

oooo 000000: 00000000000



00 SAT 0O O0OO0OOO

SugarJ O O

encode
CSP ——————— 3 SAT

SAT Solver

Y

decode
Solution of CSP [«  Solution of SAT

e SugarJOOODODOOODOOOOOCSPOOODODODOLODO
gbobobobobobo

@ CSPO SATOOODO (encode) DO O
@ SATOUOODODOOOOOSATOOOOOOO
@ U000 SATOOO CSPOOOOODO (decode) D OO

oooo 000000: 00000000000



Sugar OO0 SAT O DOOO

00 SATOOOOOO0? (D0000)

SATOOO0O000O00O0DO000O00
e 2000000000000000000O000
o JOUIODOUIOOIODODOUOODLDOOOOOO
e J000D0O0DDDOD0O0OONDNOOO0OOD [Zhang &
Malik 2003]
o JOIODOOOUIODOOODOOLOODOUOODOOOOO
gpl0-100 MiniSat 00 4000000099%000 000
gooooooooog

$ valgrind --tool=cachegrind minisat gp10-10-1091.cnf

L2 refs: 42,842,531 ( 31,633,380 rd +11,209,151 wr)
L2 misses: 25,674,308 ( 19,729,255 rd + 5,945,053 wr)
L2 miss rate: 0.4% ( 0.4% + 1.0% )

oooo 000000: 00000000000
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00 SATOOOOOO0? (D0000)

SATOOOOOO0O0O0ODsoODOOOoOoOoOooooooO
RISCOODOOOOOOOO

@ RISC: Reduced Instruction Set Computer

e 00D UIULDDDDOOODDUULDODOODO (CISC)DO
O0000000o00ooOoooooooooo (RISCO)OO
gboboodobooobobooboboooooobooon

SATOOO0O <«— RISC
SATO OO <— [QJdOooooood

e SATOODDOSATOOUOOOOUODOOOOOODD
goo

oooo 000000: 00000000000



Sugar OO0 SAT O DOOO

SATOOOOO

o JDIODDOOODOSATOODOODDOODOOD 280
020 (20130 30)
http://www.ai-gakkai.or.jp/my-bookmark_vol28-no2/

e J000DOSATOODDOOOOOOODDOOODOO 250
010 (20100 10)

@ Handbook of Satisfiability, IOS Press, 2009.
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http://www.ai-gakkai.or.jp/my-bookmark_vol28-no2/

Scala0 O 0OOOO0OO0OO0O0O0OOOOOO
Copris

oooo 000000: 00000000000
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Martin Odersky 00 00 O04+0000000000

gooog

e lIDIDODODODODODODOODO
e JIDODOODODOOD

@ Immutable Collections

e IO DSLOODOODOODOODO

gooooo

o JVMUILDODOOODOOODODO
e JavalUDOUDOUODOUODLOUODODUDODUODO
e 0IIODDOOODOODDOODLOODDOO

@ DSL: Domain-Specific Language
o JVM: JVM: Java Virtual Machine
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e Scala0OODDOOOCOOOOODODODOOD DSL
e JIDODLOODLODODO

o IO ODOUIODOOODOOOOODODOOOOO
e Sugar
o SMTOOOD (Z3, MathSAT 0 D)
e JSR3310 000 (ChocoO )
e SATOODODOODO Sat4j0 00O DOODOOOO JvM OO
0o
BSDOOOOODOOO
e http://bach.istc.kobe-u.ac.jp/copris/

Copris0O000O0OOODODOOOOOODOODO

oooo 000000: 00000000000


http://bach.istc.kobe-u.ac.jp/copris/

ooo (1)

cspO OO

val csp = CSPQ)

goood

val x = Var("x")
val y = Var("y")
csp.int(x, 0, 7)
csp.int(y, 0, 7)

csp.add(x + y === T7)
csp.add(x * 2 + y * 4 === 20)

e OUO0ODODOOODLDOODDOOODLOODLODODLODOODOO

oooo 0o0o0O00:- 00000000000



ooo (2)

gooooon

val solver = DefaultSolver(csp)

gooo

if (solver.find)
println(solver.solution)

e ScalaJJOOOOODODODODOSugar00CODOOOOOOO
OO0 SATOOODOOOOOOOSATOOOODOOOOOO
goog

oooo 0o0o0O00:- 00000000000
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import jp.kobe_u.copris._

val csp = CSP()

Var("x")

Var ("y")

csp.int(x, 0, 7)

csp.int(y, 0, 7)

csp.add(x + y === T7)

csp.add(x * 2 + y * 4 === 20)

val solver = DefaultSolver(csp)

if (solver.find)
println(solver.solution)

val x

val y

oooo 000000: 00000000000



Cream Sugar Copris [1[11] Scala Copris Copris

import jp.kobe_u.copris.
import jp.kobe_u.copris.dsl.

int(’x, 0, 7)
intCy, 0, 7)
add(’x + ’y === T7)
add(’x * 2 + ’y x 4 === 20)
if (find)
println(solution)

o DSLOODOO mport DO0OOOOODOODOOOODOO
e JODOCSPODOOODODOO SolverOOOOODOODO
e 000 (’x0)000DUUUDDDODODOODOOO

oooo 000000: 00000000000
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ndoooogaag

nd0 0000000

def queens(n: Int) = {
for (i <- 1 to n) int(’q(i), 1, n)
add(Alldifferent ((1 to n).map(i => ’q(i))))
add(Alldifferent ((1 to n).map(i => ’q(i) + 1i)))
add(Alldifferent((1 to n).map(i => ’q(i) - i)))
if (find)
do {
println(solution)
} while (findNext)

Map(q(2)->7,q(3)->5,q(7)->6,q(4)->0,q(5)->2,q(0)->3,q(6)->4,q(1)->1)
Map(q(2)->1,q(3)->5,q(7)->7,q(4)->2,q(5)->0,q(0)->4,q(6)->3,q(1)->6)

oooo 000000: 00000000000
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gooooon

0000000 (ooooo)

obood112000000000 2,4,6,7,8,9, 11, 15, 16, 17, 18,
19, 24, 25, 27, 29, 33,35, 37,42, 500 210000000

oooo 000000: 00000000000
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gooooon

0000000 (ooooo)

obood112000000000 2,4,6,7,8,9, 11, 15, 16, 17, 18,
19, 24, 25, 27, 29, 33,35, 37,42, 500 210000000

35 27
50
15 17|11 19
12 |6
917
24
2 18
29 > |16
T2
112 x 112

(Wikipedia 0 0)
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oooobd

val size = 112
val s = List(2,4,6,7,8,9,11,15,16,17,18,
19,24,25,27,29,33,35,37,42,50)
val n = s.size
for (i <- 0 to n-1) {
int(’x(i), 0, size - s(i))
int(’y(i), 0, size - s(i))
}
for (i <- 0 to n-1; j <- i+l to n-1) {
add(’x(i) + s(i) <= ’x(j) || ’x(j§) + s(jG) <= ’x(@1) ||
Yy(1) + s(1) <= y(G) || ’y(G) + s(j) <= ’y(1))

if (find) {
oooo
}

e 00000DOOOOOOO



goboobooooon
Q@ Uunouonod
@ Uunouopouooonog

@ CreamI OO

e JvalDDDODDDDDODODOODDODDODDODD
e OpenOfficeorg CalcO OO OOODOOODOO

@ Sugar00O 0O
e SATOODOOODOO

@ CoprisO0 00O

oooo 000000: 00000000000
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